
4. POLINOMIOS. EXERCICIOS (3)

1. Desenvolve:

1.1.  (4 + 5 x)2

1.2.  -2 x2 + 3 x
2

1.3.  -3 x - 4 x2
2
 

1.4.  (3x-x2) (3x+x2)

1.5.  (-4x-2 x2) (-4x+2 x2)

1.6.  (2 x2 + 5 x) (-2 x2 + 5 x)
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2.  Expresa como produto:

2.1.  x2 + 25 + 10 x

2.2.  16 x2 + 1 + 8 x

2.3.  x4 + 16 - 8 x2

2.4.  36 - x2

2.5.  4 x2 - 25
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3.  Simplifica:

3.1.  (5 + 3 x)2 - (5 - 3 x)2

3.2.  x2 + 7 x
2
+ x2 - 7 x

2

3.3.  (1 + 4 x)2 - (1 - 4 x) (1 + 4 x)

3.4.  25x + 3 x2
2
- (5 x - 15 x)2
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4.  Dados os polinomios : 
 P(x) = 8 x5 - 16 x4 + 24 x3 - 5 x2 - 7 x + 6 e Q(x) = 2 - 3 x + 2 x2

Efectúa as seguintes operacións :

4.1.  P(x) +Q(x)

4.2.  Q(x) -P(x)

4.3.  5Q(x)

4.4.  3P(x) - 4Q(x)

4.5.  P(x) ·Q(x)

4.6.  (Q (x))2

4.7.  P(x) :Q(x)

5. Realiza as divisións seguintes : 

5.1.  (3 x5 + 3 x4 + 15 x3 + 21 x2 + x + 3):(3 x2)

5.2.  (15 x3 + 21 x2 + 60 x + 84):(5 x + 7)

5.3.  (5 x5 - 5 x4 + 12 x3 - 12 x2):(x3 - x2)

5.4.  (10 x5 + 4 x4 - 54 x3 + 18 x2 + 12 x - 3):(2 x3 - 4 x2 + 1)


